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It is the wind that brings it - 79 ounn RPT R RPOT

Overview

The X773 relates that when the family of 277 7°72 771 72 would beat the flax, the
chaff (of the flax) would fly away and damage people.! X127 ruled that “01 "1 held
one is liable for damage that is casue by 71°2°7 >3, only if it is from his force, however
here the wind is carrying it,? so they are not liable, and may continue to beat the flax.
n1voIN reconciles this ruling of X1°27 with other seemingly contradictory rulings.

nvoIN asks:
= 3UN DIYN 2NDT PN 1939Y NOVD

The »''1 has a difficulty with the ruling of X1°27, for he should be liable on account

of “fire’, for this case of chaff -
=) YR INNDAY INYNI 12230 NANN MINT 1M

Is similar to the case where a one placed his stone, his knife, or his load on top of

his roof -
= (%97 NP N22T NNDIP 9992 99NRTd YN DIVN 2NT PN NN N9 1999

And they fell down on account of a common wind, and they damaged something
while falling, the rule is that he is liable, because this is considered W, as the X723
states in the first P25 of P''2 noon —

MsoN rejects a possible solution:’
= Y9N N8 NI NYY YVNNT NI

Abd here we are discussing a case where the chaff was carried along by a m9

AMXN; we know that we are discussing a 7”11 M1 -
= 798D N1 Y9IRT 1I¥01) NN AN DYDY 729911

Since the X713 challenges the ruling of X127 from the case of one who is winnowing

!'The chaff per se cannot damage anyone, except when it hits someone with the force of the wind behind it.
297 »ais only if it is like his arrows who fly by the force of the archer, however here he is merely separating the
chaff, it is traveling elsewhere only because of the wind; it cannot be considered 7°7°7 >,
3 wx (fire) is one of the four major categories of damagers (1°p°11 Max). Any damage which is inflicted in a manner
similar to WX is 2’17 as a 7720 (a derivative) of WX, and one is liable for any damage it caused.
4 Here too he should (not only be prevented from continuing to do this, but he should also) be liable for the damages,
for it is similar to the case of 131 11°301 11a8. The wind is carrying his chaff and damaging others.
5 Perhaps in the case of the chaff here, it was blown by a 7% 7»Xw 11 (an uncommonly strong wind).
6 The X m3 asked on X127 why is this case different from the case of winnowing on naw, where the winnowing
(separating the grain from the chaff) is accomplished only through the wind, and nevertheless he is 2, the same
should be here that he should be liable even though the wind is assisting in causing the damage.
7The 11"27 M7 amens this to read WMy»on (instead of W>70n).
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and the wind helps him winnow, which that case is by a f191%% m9; we know that the

case of 77177 is where it was a 7”%¥n M -
= N9 INPT) N2Y $93) (owr .x,0 91 0w DN YNIYUNTS

As it seems in 911377 P19 regarding the case where he fanned the flames and the
wind assisted him in fanning the flame —

An additional proof that the chaff case is by a 7mxn m~:
- SYUN DIVN 29NT NNN NI 1INT WIVIN NN NE1D I T>999)

And also, since the X713 asks on X1°27, why is his case different from the case of a
spark that flies from a hammer, for which he is liable for damages. And that case

is by a »n''19, since he liable on account of wx
— 10931972 1Y NP YN *2N1

For the /mw» in 811277 P75 teaches the rule of v2 by the cases of WX ! The question
remains (since this is a case of n"17), why (in the case of X1°27) is he not 2°°17 on account of WX?!

N1d0IN answers:
= 9720 UNRN NN DIRN AYYWI NON YN DIVN 29N PRT YUNRD 199 X7 PNYY 13929 901N

And the >''1 answers that this case of the chaff is not similar to wx, for one is not

2%1 for wR, unless the person makes the fire by himself -
= %9819 M9 2 DY NIVIN 75 NN NN PO XY 2H9yan NN 9Pyann 11ansvs

As it is written, ‘the one who ignites the blaze’; meaning that he initially ignited
the fire without the assistance of the wind, and afterwards the fire travels

through a commonplace wind -
= 133997 %95 DY NON 9Py D5 11aY NwIY PN NN VAN

8 The Xn»"2 there stated regarding the case of M7 7221 72°7 that if his own fanning the flame is sufficient to cause
the damage, he is liable, however if his fanning is insufficient and it caused damage only because of the wind, he is
7109, The Rn3 there asked why is this different from 1ny»on M ¥y, where he is 211 (for n2w nox7»), even though
the winnowing is accomplished only through the wind. From this question it is apparent that 77 is only 2> by a M1
My, for if one would by 211 by 7717 even with a 7211 728w M, how can the X723 compare and ask from 777 on 729,
since by 771 the 7710 is so strict that he is 211 even by a n"Xw MM, however by (¥R) 172°2, one is never 21 for a MM
n"xw. This proves that 7717 is only by a 7"1¥n m7. Now since the X713 ask from 7717 on the flax, that means that the
case of the flax is also by a mxn mA.
° The 2rn of WX is only by a n"1.
10 See the mwn there 2,20 where it states, 11NW5 D121 O°277 MW 72T WD VY 7NW Sna,arn 2T WOUDT NNNN KXW ¥A
257 ONIMT I 173 137 73737 ,2°0 93 DY 77927 DR PR T 10 D 1712 1977 man 0. All the cases are about WX.
117,250 (owown) Nnw reads, TP3T DY WIRT 07U DY A7W0 IR THpT IR UOT 2280 OO ARYD W RYND 0D .
12 The fire (which he made) is what damages, the wind merely moves the fire to a certain destination.
13 mpon distinguishes between damage caused by fire and the damage caused by the chaff. Fire itself can damage; the
wind merely extends the area when the fire can damage. This person made a fire, which is a °177 927 and it spread
n"172 therefore he is 2*°1. However, the chaff is not a 211771 727; it can do no harm on its own (see footnote # 1). Without
the wind there is no damage, therefore he is 7109, for he did not make a p*12i7 727 (like wX) and need not distance either.
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However here he is doing nothing by himself, only through the wind -
- 99097 MM N 14N2%5Y 3T 1P Y3 XIIN NNPY NN NY 119 IND INT

For if not for the wind, the chaff would not go anywhere at all, so it is similar to

the case of m=;7 7n2991 712%% where he is "vD -
- 17839 Wian 371 TNYT NPYD DY N0 NIW IS THIDA 7599 23 5WNT 1593990

And this is also what the X773 answers when the X773 asks shortly, ‘why is the case
of the chaff different from the case of a spark’; the X711 asked this because it

assumed that the case of chaff is exactly similar to the case of the spark -
- NPT OV XY ¥PNA01) NN NS 1Y N9 MINY 1125931 1851557 1159 XN DN IV

And the X713 answered, ‘there by the 72 he is pleased that the spark should go
forth’ and so he bangs strongly so that the y» should leave and distance itself,

all this is accomplished without a wind
= %9819 M9 T DY TN MNY NN DY YN DIVN 29N

So therefore, he is liable because of wx, for the damage which is completed and

travels through a »''y -
= 21555 nO5N XOPIN PN 2N IND INY NI N1 1PN 1T DHNT 19D NN’ ND NN JaN

However here by the chaff, he is not interested at all that the chaff should travel,
meaning that he is not banging it hard so it should go away, and if not for the
»''19 the chaff will not travel at all.*?

14 See footnote # 8. By M1 102> 72°% if his fanning the coals is insufficient to start a fire without the wind, he is Mw»
since he did not create a 11 by himself, only together with the wind. The same applies here by the chaff that he did
not create a °1; it became a P11 only because of the wind.
15 Moo may be explaining how come the X723 later askes yan w"», but it does not ask wx» w"n. The answer is that the
X723 understood that chaff is different from WX, as '01n just explained. The question is yan w"n.
16 See (text by) footnote # 9.
17 mooin perhaps means to say that just as chaff is not a P (see footnote # 1 & 13), similarly the v (itself) is also not
a P11 727. Therefore, the X3 asks why is he 211 by 73, and 715 by the chaff.
18 This may mean that he wants the spark to leave his smithy.
19 The n"27 M7 amens this to read prn™ (instead of prnm1). This may also mean that for his work as a smith he
needs to bang hard so that sparks will fly So he intends to make sparks.
20 The "7 MAaT amens this to read M7 (instead of mMA).
2l mooin distinguishes between 3 and chaff; by v3 he is hitting it hard for he wants it to go away (or he needs to hit it
hard), so that his intent is that the v should fly away; that is creating a 177 727 and the wind merely extends its
distance; however by chaff he has no intent that it should go away, he does not mind if it remained here, therefore he
is not creating a p*1 727.
22 mpoin, however did not offer a distinction between chaff (where he is 7105) and 1Rwn) 1930 1328 which damaged
n"172 (where he is 217). See R"wAmn who writes, "7 A37 WRI2 23T N 2IPRR 1903 71027 113 191 11020 1R DT RDT
7RI 1127 RIND7T DI ROX PR INVT D37 oW 1372 RNPIT ¥ ININ3 PR X7 AR 1" 0"V N9 2R 1725 O7RA Y WRI Wyl
P MR "y P Py 939727 mww. The R"w0nn seems to be saying that by n™ox he is placing something with intent
where it can damage. However, by chaff he is merely preparing the flax; he has no intent at all regarding the chaff.
Alternately, n"1oX damage on account of their weight or sharpness, however chaff can only damage because of the
wind. See 7wn noml.
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nvoIN asks:
= PN9NY 20T 239100107 1IN NINT 2191 PNINY 29N NN DIPN YN 9NN ON)

And if you will say; nonetheless (even if he is not liable for the damages), he should
be required to distance himself, for it is similar to the 37 in our /mw» where he

is obligated to distance himself -
= 115950191 NPT 2) DY 9N

Even though that in our 71wn also it is the wind which carries the chaff?!

MB0IN answers:
= 119959 9992 NON 2991019 NDT YD) 5299 NIIIN 299N NI 2499295 1PNNNT 99D U

And one can say that our mw» of 1711 is according to the 3239 and here (by the
chaff) we are discussing the ruling according to ', who only holds one liable by
Al Rl 9993, and here it is not 1°2>7 7% (since he made no ) —

mooIN anticipates a difficulty:
= 2513295 NHT NONN MPIND KNI RIY NI 72997 XY

And this which the X713 challenged X1°27 from 131 XX v3, so why did not the
X713 establish that 71wn of 73 according to the 3339 who argue with °01° "1 —

nvoIN responds:
= 26APNN 123¥9 RON PMIYUN 29N 123D 1929 YD) 939 109 NIT DIVUN

Because *''1 and the 3139 do not argue regarding the obligation to pay, rather
the argue only regarding distancing.

n1voIN asks:
= 12PN Y01% 790 1759NT 2711991331 NIV NI 9NN ON)

And if you will say; why is the case of the chaff different from a ;19>%1, where even

according to >''1 we require distancing -
= YYUN 29 92 28915 NWAI NYVNN NN NYNT 2) HY 9N

23 The mawn on 2,73 requires distancing a threshing floor (77 fifty N1 (in order not to damage his neighbors).
24 See the mwn and the X3 on 3,72. See ‘Thinking it over’ # 1.
25 The same answer which mooin gave to reconcile the mawn of 19°X with the ruling of X127 (by chaff), the X723 could
have given concerning the difficulty from the 771wn of ya.
26 The answer that the mwn of 73 is according to the 221 is not satisfactory, for the argument between 13271 >"1 is only
regarding 7pr07, but even the 13121 agree with >3 that there is no 1"7wn 217; so why is he 211 by ya and " by the
chaff. Therefore, we must give the s'k 13 answer.
27 The m1wn on 1,2 states, we must distance the ladder from the dovecote four X in order that the 711 should not
jump (from the ladder to the dovecote). i7" is a weasel type animal (mongoose?).
28 The r1"27 M deletes the words *wX 27 92 7»3 (and it reads ¥°m 7wo3).
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Even though that it is the 77>»1 who brings herself to the dovecote (like 23992 9»
2N who ruled in opposition to X31°27) —

MooIN responds:
= 309599 9INPT 9915 29N1T 91127 12319017 DIYN ONN 1N

However there he must distance, for it is considered 77°7°7 >°x because occasionally
as he puts down the ladder, etc. the 721 will jump from the ladder to the 721w. as
the X713 explained previously, however here it is not 79°7 >3 as X121 stated.

nvoIN asks:
= NINN NPIP 22 1P2AN 90 29 MINRT (x93 9m 31999Y P29 NYP YaN

However, there is a difficulty from the previous case of ravens, where %'
demanded remove the crowing ravens from here —

NIDOIN answers:
= 329139599 YYN 29 93 9195 PDID DN 19297 X295 NV 920 XY NI)XNT 91217 W

And one can say that the X923 does not agree with X132, for the n''9 ruled like

SN 29 72 9% and 97K, who maintain that the case of the flax is similar to (either) mm 77
1NY™ 0 (or to XX v3) that in the case of the flax he has to distance himself (and he may be liable).

mooin offers an alternate answer (that we can agree with X1°27):
= Y99 290 »190NT 2INY 0N SDPAT PNY 19929 9N I

And additionally says the >''1 that we can reconcile the view of X1°27 (who is more
lenient by the flax) with the cases of 711 and 127V (where we are stricter), for
animals are different, since we are stricter regarding animals (who assist in

causing damage) more than regarding a wind (which assists in causing damage) -
000 91 NP N33 3493999N75 2112 29991 NN N7

29 The 11"2:7 MAAT amens this to read maaT (instead of 117).
30375, See the n¥21pn uw that this means that when he is placing the ladder the 7»1 is already on the ladder, therefore
it is as if he is bringing the 7711 closer to the 72w.
31 See there (also) 1R 17"7n TIE footnote # 1.
32 According to this answer of Mmon (that we do not rule like X1°27), we do not need the explanations differentiating
between the case of ®1°27 (flax) and the other cases (of 73 ,13°30 112X ,wX), except according to X1°27. See ‘Thinking it
over’ # 2.
33 The > 07X did not make the wind come; it is a 91X 115, however by the 21 and the 727 the > 07X allowed
the 711 to come on his ladder and the 127 came because of the bloodletting, therefore it is 7°7>7 >,
34 The X na there states that if the 7710 would not have written the 211 for P17 WX, we could not derive it from the
arn of p1na M3, for by M1 there is no 12 27¥» NX 112, therefore one is 271, however by WX, since there is a X 12
12 27yn, we would assume that he is 5. We see from there that 12 27197 71K 112 is a reason to be lenient.
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Since regarding damage caused by wind (like the flax, winnowing and 73) there is
another force mixed in with them, as the Xn) states in p''3 noon.

Summary
nooIn distinguishes between the case of X1°27 and the cases of WX and y3. We either

do not rule like X1°21 or we can differentiate between wind and animals.

Thinking it over

1. moon writes that the 71wn regarding 1713 follows the view of the 7127, but not that
of "0 '7.% Previously however mooin stated?® that all the nvawn (except for 17°X) are
according to >" (for they are 727 >7%). How can we reconcile these two nmo0in??’

2. mpoIn answers that there is no question from 727 since the n"7 rules like 92 7n
WX 21 and .3 How does that resolve the issue, can we compare the case of
727 to the case of 7717 or 722%°

35 See footnote # 24.
36 Xm0 1"7 2,20.(TIE [by] footnote # 4).
37 See R"wAmA.
38 See footnote # 32.
3 See mwn nom.
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